NET 20 7ADEEANO

JN=| 110,581 (+5)

5 53,443 A (+25)
s 57,138 A(-20)
HEE 42,1945 (+48)

¥ () AIFRIALE
X207 1BRAE

ETRIAOER  Frk20F7H1H
BEAOR, FREARGKRALD (EFREXRSKRCEZRSNIZALD) &> —HUEFEA.

g AQ 18R Sk 18R ik | | R | R
JR\E=H] 440 1 200 0 240 1 191 1
ELH] 229 1 100 1 129 0 91 0
E=H] 152 1 70 1 82 0 67 1
KEH] 49 0 13 0 36 0 26 0
INEL] 8 0 1 0 7 0 4 0
=] 88 0 35 0 53 0 21 0
SRea H] 63 0 11 0 52 0 15 0
iR el 541 0 263 1 278 -1 305 0
FEH] 34 0 19 0 15 0 16 0
p:Lii] 227 0 91 0 136 0 87 0
= =] 72 0 34 0 38 0 32 0
] 227 3 108 2 119 1 104 2
ZH] 132 -1 58 -1 74 0 65 0
e SHT 553 -8 290 -3 263 -5 263 -2
] 64 0 31 0 33 0 34 0
15RaH] 18 1 12 1 6 0 5 0
FASEH] 152 4 76 3 76 1 87 3
—&T 0 0 0 0 0 0 0 0
NET 101 0 47 0 54 0 48 0
T&ET 152 1 73 0 79 1 54 0
JI\&ET 77 -1 35 -1 42 0 36 0
NET 262 -3 114 0 148 -3 87 -2
+&ET 235 -1 103 -1 132 0 116 -1
b geakil] 387 1 161 0 226 1 199 0
ST 2,601 7( 1,257 9] 1,344 -2| 1,028 5
R FRE] 3,507 9] 1,648 9 1,859 o] 1,337 3
EEH] 1,513 10 731 5 782 5 510 5
FRiR ] 1,861 -1 931 -3 930 2 746 0
FERHE] 510 -2 235 -1 275 -1 222 -2
FHATH] 3,506 26| 1,770 26| 1,736 0] 1,519 27
LLIAEHT 2,280 66| 1,125 29| 1,155 37 889 28




VEIRH] 2,014 1 1,011 0] 1,003 1 526 2
Ll e 4,794 11| 2,337 6| 2,457 5/ 1,725 9
JFEET R 2,091 6| 1,038 2 1,053 4 788 2
EBZRHE] 9,434 16| 4,608 16| 4,826 0| 3,439 11
=2kH] 3,562 -22 1,739 -12| 1,823 -10 1,334 -8
[ EHET 1,009 8 501 5 508 3 405 3
EREFHIER — 2,466 -10f 1,171 -7 1,295 -3 811 -1
EREFHTERS) 1,794 -5 859 -6 935 1 626 -3
EREFHT PG 7> 546 1 266 0 280 1 193 -1
Er7KH] 5,643 1 2,674 -1 2,969 2 1,833 6
g lii) 110 -1 98 -1 12 0 95 -1
ERH] 61 -1 34 -1 27 0 37 -1
ETRE—TH 431 0 217 0 214 0 190 0
ETREIZTH 296 4 132 2 164 2 135 1
ETREI=TH 0 0 0 0 0 0 0 0
ETREMTH 0 0 0 0 0 0 0 0
ETREATH 233 -3 111 -1 122 -2 73 0
rES 0 0 0 0 0 0 0 0
TEE—TH 457 -1 200 0 257 -1 203 0
TEEZTH 774 3 362 2 412 1 345 -5
TEE=TH 312 1 147 1 165 0 146 1
WERAT—TH 483 0 221 1 262 -1 216 0
RERE—TH 757 -1 369 -1 388 0 342 0
EE=TH 466 0 238 1 228 -1 219 -1
EMPRET—T B 339 3 150 1 189 2 148 0
Gl = 536 -6 251 -3 285 -3 247 0
JtFEILE—TH 186 0 78 0 108 0 84 0
JtFEILETZTH 440 0 201 1 239 -1 191 -2
A —TH 328 -4 176 -3 152 -1 142 -2
AR —TH 509 0 242 -1 267 1 248 -1
FEH—TH 129 3 55 1 74 2 53 2
FZHZTH 325 -9 134 -3 191 -6 147 -2
[REEIH 343 -4 161 -3 182 -1 204 -1
wFEE—TH 124 -1 58 -1 66 0 61 1
RFEE =T H 290 -1 115 -1 175 0 125 -1
RAEI—TH 479 -6 217 -3 262 -3 179 -1
FREIZTH 321 1 147 1 174 0 139 0
RREI=TH 513 -3 244 0 269 -3 242 -1
FRAFETI T H 352 -1 159 -1 193 0 153 0
FRETRTH 583 -1 252 -1 331 0 217 0
FuRE—TH 233 -7 120 -5 113 -2 109 -5
FUEEI”TH 370 -3 201 0 169 -3 188 -1
HIIEEE—TH 474 -2 216 -1 258 -1 224 -1




HIGEAI”TH 324 -1 150 0 174 -1 129 0
BRE—TH 138 2 63 2 75 0 71 0
BRI "TH 665 -7 299 -4 366 -3 293 -2
BRE=TH 575 -2 275 -1 300 -1 230 -1
BEEMTH 244 1 118 1 126 0 100 0
EEEATH 720 -8 329 -4 391 -4 349 -4
Kt —TH 287 3 135 1 152 2 103 1
XK —TH 214 11 106 -5 108 -6 85 -4
AFH—TH 134 0 60 0 74 0 57 0
AFHZTH 7 0 4 0 3 0 4 0
AFH=TH 220 2 115 1 105 1 98 1
TEEIA—TH 614 -2 293 1 321 -3 219 -1
TEsETFE T H 293 3 137 3 156 0 110 2
TEEAR=TH 172 8 91 4 81 4 70 3
TEEIFEM T B 483 6 234 4 249 2 186 2
TEEAATH 659 -3 317 -2 342 -1 243 2
TEEIPRNT B 416 -6 189 -1 227 -5 170 -3
TEsETFEE T H 602 9 285 4 317 5 271 5
TEEIFEA\TH 661 -2 317 0 344 -2 268 -1
TERER—TH 1,334 3 642 -2 692 5 562 3
THREERTTH 400 -5 200 -3 200 -2 160 -1
TEREIR=TH 704 -2 349 -1 355 -1 289 -3
TEREIERIUT B 1,132 -8 539 -3 593 -5 451 -5
TEHREERATH 1,201 2 739 0 462 2 682 1
T2REERANT B 660 -2 348 -2 312 0 324 -2
TEZRERETH 1,459 -2 714 -1 745 -1 585 -1
TARETERNTH 1,383 5 654 6 729 -1 612 4
TEREIRAT B 544 -2 276 -2 268 0 103 -1
TEEIE—TH 72 -2 42 -1 30 -1 52 -1
TEEIEZTH 59 4 37 1 22 3 48 2
4N st 81,024 64| 39,209 57| 41,815 7| 31,910 63
AEH]E 144 -1 59 1 85 -2 77 -2
AEHTA 133 0 68 0 65 0 64 0
AEHERE 14 0 4 0 10 0 10 0
AREHT/NBR 138 0 61 0 77 0 64 0
AEHKH 13 0 5 0 8 0 9 0
AEHTEH 78 -1 32 0 46 -1 40 0
AEH R 14 0 7 0 7 0 7 0
AEHE /R 9 0 2 0 7 0 6 0
45 17 0 8 0 9 0 11 0
AEMIXEEST 560 -2 246 1 314 -3 288 -2
IN= 1 AVES] 39 0 21 0 18 0 25 0
IN= 1RO 49 0 23 0 26 0 31 0




IN= I E0) 39 0 17 0 22 0 24 0
[1: SHTER S 40 -1 20 -1 20 0 26 -1
[LERTEAR 71 -1 34 -1 37 0 37 -1
[LSHEHH 34 0 14 0 20 0 19 0
NG9 37 0 22 0 15 0 19 0
[LEE/NFS 51 0 29 0 22 0 24 0
FEH] 42 -3 22 -1 20 -2 30 -1
[ S EEET 402 -5 202 -3 200 -2 235 -3
SUEERSET 962 -7 448 -2 514 -5 523 -5
e X T ] 1,424 -3 665 -4 759 1 495 -1
2 X BT ] EH T 792 -2 343 -2 449 0 258 -1
&R R 1,299 -3 625 -2 674 -1 431 0
e 2K T iz E P 1,111 -6 539 -4 572 -2 371 0
e 1,452 -2 689 0 763 -2 453 -1
e 1,176 4 564 3 612 1 417 -1
TN ] = AR 3,982 -10f 1,908 -51 2,074 -5 1,314 -4
TR X ERET 11,236 -22| 5,333 -14| 5,903 -8| 3,739 -8
ERILIET_ESREESF 2,008 -3 948 -1 1,060 -2 626 2
ERILIE] RSB 2,580 -1 1,280 0] 1,300 -1 851 3
ERILLIETER/IM 2,117 1 1,048 -2| 1,069 3 782 2
BRI BT PaR T 1,511 -6 747 -5 764 -1 512 -1
BRI LI BT iF 1,048 -10 504 -5 544 -5 350 -5
ERLLIET) 1R 2,320 6| 1,146 7\ 1,174 -1 794 2
ERILIE] R 1T 5,775 -17 2,780 -10| 2,995 -7 2,107 -5
BRI [X &R 5T 17,359 -30 8,453 -16| 8,906 -14| 6,022 =2
a 5t 110,581 5 53,443 25| 57,138 -20| 42,194 48




